KATANOI 3ANYACTEMN

SEA-PRO TS5

SEA-PRO

e




SEA-PRO T 5

TOP COWLING N PAINIER HaumeHoBaHue QTyY
1 |5MHS-01001 5MHS-01001 Kanot T5P (1-1) 1
2 |5MHS-01002 5MHS-01002 Peautka ynnoTHutenbHas Ha kanot T5P (1-2) 1
3 |15FMH-01005 15FMH-01005 [epxarens T5P (1-3) 1
4 |15FMH-01003 15FMH-01003 3awenka T5P (1-4) 1
5 [15FMH-01004-1  |15FMH-01004-1 Ltndpt 4x10  T5P (1-5) 4
6 |5MHS-01006 5MHS-01006 Hakneiika 6okosas T5P (1-6) 1
7 |5MHS-01007 5MHS-01007 Hakneiika nepeaHsis T5P (1-7) 1
8 |5MHS-01008 5MHS-01008 Hakneiika 3agHss T5P (1-8) 1
9 |[15FMH-11030 15FMH-11030 WHaukatop  T5P (1-9) 1
* Komnnekr Hakneek T5P (1-6/7/8) 1

N PAINIER HaumeHoBaHue QTYy
1 [5MHS-02001 5MHS-02001 Ouratens B cbope T5P (2-1) 1
2 |5MHS-02002 5MHS-02002 Kopnyc 6noka yvnuHgpos T5P (2-2) 1
3 |PNFM40E-04004 |PNFM40E-04004 LTyuep T5P (2-3) 3
4 |15FMH-02004 15FMH-02004 Ltyuep T5P (2-4) 1
5 |PNFM40E-02003 |PNFM40E-02003 Ltyuep T5P (2-5) 1
6 |15FMH-02011 15FMH-02011 LLTncpt ycTaHoBouHbIi T5P (2-6) 2
7 |5MHS-02007 5MHS-02007 Bont T5P (2-7) 4
8 [5MHS-02008 5MHS-02008 Bont T5P (2-8) 2
9 [5MHS-02009 5MHS-02009 Tpybka T5P (2-9) 1
10{15FMH-02008 15FMH-02008 XomyT T5P (2-10) 5
11[5MHS-02011 5MHS-02011 Tpybka BeHTUnsALMM kamepbl cropanus L100 T5P (2-11) 1
12[5MHS-02012 5MHS-02012 Tpy6ka BeHTUnsLMM kamepb! cropanus L70 TSP (2-12) 1
13[5MHS-02013 5MHS-02013 Tpybka BeHTUNALMM kamepbl cropanus L120 T5P (2-13) 1
14[5MHS-02014 5MHS-02014 Tpy6ka BeHTUnsLMM kamepbl cropanus L70 TSP (2-14) 1
15[{15FMH-02008 15FMH-02008 XomyT T5P (2-15) 2
16[5MHS-02016 5MHS-02016 Kopnyc canbhuka T5P (2-16) 1
17 [5MHS-02017 5MHS-02017 KonbLo cTakaHa koneryatoro Bana T5P (2-17) 1
18[5MHS-02018 5MHS-02018 CanbHuK HuxHUiA Koneryatoro Bana T5P (2-18) 1
e T, 19{15FMH-01008 15FMH-01008 Bonr ¢ wanboin M6x16 T5P (2-19) 1
A 20|5MHS-02020 5MHS-02020 Lllaitba T5P (2-20) 1
21|5MHS-02021 5MHS-02021 Kpbiwka ronosku 6noka T5P (2-21) 1
22|5MHS-02022 5MHS-02022 IMpoknagka KpbiILLK1 ronoBky 6noka uunuHapos T5P (2-22) 1
23|5MHS-02023 5MHS-02023 bont T5P (2-23) 4
24|5MHS-02024 5MHS-02024 Kpbiwuka rnylmtens BHyTpeHHss T5P (2-24) 1
25|5MHS-02025 5MHS-02025 lMpoknagka KpbILLKK rMyLumnTens BHYTpeHHss T5P (2-25) 1
26|5MHS-02026 5MHS-02026 Kpbiwka rnywmtens BHewHss T5P (2-26) 1
27|5MHS-02027 5MHS-02027 IMpoknagka KpbILUKV rmywmuTens BHelwHss  T5P (2-27) 1
28|5MHS-02028 5MHS-02028 bont M6x25 T5P (2-28) 8
N 30|5MHS-02023 5MHS-02023 bont T5P (2-30) 1
g () STt 31[5MHS-02031 5MHS-02031 Ban koneruarbii B cbope T5P (2-31) 1
[{@\{ D 4 CRANK CYLINDER  139[5MHS-02039  |5MHS-02039 CanbHuk HibkHuit koneH.sana T5P (2-39) 1
o ST [40[5MHS-02040 [5MHS-02040 Waifba konensana T5P (2-40) 1
@—c@ 7 (AT B ) 1 ToMHS-02041  [5MHS-02041 Mopuwens T5P (2-41) 1
- 42[5MHS-02042 5MHS-02042 KonbLa nopLuHeBble (komnnekT 2wr) T5P (2-42) 1
43[5MHS-02043 5MHS-02043 MoawumnHuk watyHa T5P (2-43) 1
44|5MHS-02044 5MHS-02044 Maney nopluHeson T5P (2-44) 1
45|5MHS-02045 5MHS-02045 KonbLo cTonopHoe T5P (2-45) 2
47[5MHS-02047 5MHS-02047 Mpoknapka fengsyna TSP (2-47) 1
48[15FMH-02008 15FMH-02008 XomyT T5P (2-48) 1
49[PNFM40E-02036 [PNFM40E-02036 CBeya 3axvranus NGK B7HS T5P (2-49) 1




INTAKE & CARBURETOR N PAINIER HaumeHoBsaHue QTy
1 |5MHS-03001 5MHS-03001 BnyckHble knanaHa B cbope T5P (3-1) 1
3 |5MHS-03003 5MHS-03003 IMpoknagka BbIMyckHbIX knanaHoB T5P (3-3) 1
4 |5MHS-02023 5MHS-02023 Bont T5P (3-4) 2
5 [5SMHS-03005 5MHS-03005 Kap6topatop T5P (3-5) 1
35(5MHS-03035 5MHS-03035 IMpoknapka kapbropatopa T5P (3-35) 1
36 (15FMH-12033 15FMH-12033 l"aitka perynupoBoyHas natyHHas  T5P (3-36) 2
37|5MHS-02020 5MHS-02020 Laiba T5P (3-37) 2
38(5MHS-03038 5MHS-03038 Kpbiwka1 kapbiopatopa T5P (3-38) 1
39(5MHS-03039 5MHS-03039 Kpbiwwka?2 kapbiopatopa T5P (3-39) 1

40|5MHS-03040 5MHS-03040 BuHT Kkpbiwku2 kapbiopatopa T5P (3-40) 2
41|5MHS-03041 5MHS-03041 LLlait6a kpbiwku kapbiopatopa T5P (3-41) 2
42|5MHS-03042 5MHS-03042 BuHT T5P (3-42) 1
43|5MHS-03043 5MHS-03043 [ipoccenbHblit cTepxeHb T5P (3-43) 1
44|5MHS-03044 5MHS-03044 Pyyka Bo3gyLuHOI 3acnoHku BHeww. T5P (3-44) 1
45|5MHS-03045 5MHS-03045 LLitok Bo3ayL. 3acnoHkn T5P (3-45) 1
46 [5MHS-03046 5MHS-03046 LLlait6a Bo3aLw. 3acnoHku T5P (3-46) 1
47|15FMH-12040 15FMH-12040 Laphup pblvara Bo3ayLuHOM 3acnoHku TSP (3-47) 1
48|5MHS-03048 5MHS-03048 Bont T5P (3-48) 1
49|5MHS-03049 5MHS-03049 Bont T5P (3-49) 1
N PAINIER HaumeHoBaHue QTy
1 |5MHS-04001 5MHS-04001 Craprep B cbope T5P (4-1) 1
2 |5MHS-04002 5MHS-04002 Kopnyc py4Horo ctapTtepa T5P (4-2) 1
3 [5MHS-04003 5MHS-04003 3aBogHoit 6apabaH T5P (4-3) 1
4 |5MHS-04004 5MHS-04004 MpyxwHa ctapTepa 6onbluas T5P (4-4) 1
5 [5SMHS-04005 5MHS-04005 Brynka 3aoHoro 6apabaHa T5P (4-5) 1
6 [15FMH-08009 15FMH-08009 bonT 3aBofjHoro 6apabana T5P (4-6) 1
7 [15FMH-10014 15FMH-10014 l"aitka 3aBofjHoro 6apabaHa T5P (4-7) 1
9 [5MHS-04009 5MHS-04009 Cronop-Ynop T5P (4-9) 1
10[5MHS-11038 5MHS-11038 KonbLio ctonopHoe T5P (4-10) 1
11|5MHS-04011 5MHS-04011 MpyxwHa Ctonop-Ynopa T5P (4-11) 1
12|15FMH-07019 15FMH-07019 3arnyLuka pyyku ctaptepa T5P (4-12) 1
13|5MHS-04013 5MHS-04013 Bepeska ctaptepa T5P (4-13) 1
14|15FMH-07018 15FMH-07018 Pyuka ctaptepa T5P (4-14) 1
15|5MHS-04015 5MHS-04015 Bamnep pyuyku ctaptepa T5P (4-15) 1
16|5MHS-04016 5MHS-04016 Kopnyc 6amnepa pydku ctaptepa T5P (4-16) 1
17|5MHS-02023 5MHS-02023 Bont T5P (4-17) 2
18|15FMH-14004 15FMH-14004 bont kopnyca ctaptepa T5P (4-18) 3
19|5MHS-04019 5MHS-04019 Cronop-ynop Tpoca aBapuitHoro T5P (4-19) 1
20|5MHS-04020 5MHS-04020 MpyxwHa Tpoca aBapuiiHoro T5P (4-20) 1
21|5MHS-04021 5MHS-04021 Tpoc aBapuitHblit T5P (4-21) 1
22|5MHS-04022 5MHS-04022 KpoHiwuteitH T5P (4-22) 1
23|5MHS-04023 5MHS-04023 Pobivar T5P (4-23) 1
24|5MHS-04024 5MHS-04024 Brynka T5P (4-24) 1
25|5MHS-04025 5MHS-04025 Bonr ¢ waitboit T5P (4-25) 1
26|5MHS-04026 5MHS-04026 Tsra T5P (4-26) 1
27|15FMH-12013 15FMH-12013 ®ukcatop Tarn T5P (4-27) 1
28|5MHS-04028 5MHS-04028 dukcatop T5P (4-28) 1
29|5MHS-04029 5MHS-04029 LUlaitba T5P (4-29) 1
30]|15FMH-11012 15FMH-11012 LLiTucpt T5P (4-30) 1




GENERATOR N PAINIER HaumeHoBaHue QTY
- 21 1 |5MHS-05001 5MHS-05001 Maxosuk T5P (5-1) 1
[ ' 2 |5MHS-05002 5MHS-05002 LLkus ctapTepa T5P (5-2) 1
3 |5MHS-02023 5MHS-02023 Bont T5P (5-3) 3
. 4 [5MHS-05004 5MHS-05004 OcHoBaHue marHetTo T5P (5-4) 1
5 |5MHS-05005 5MHS-05005 Kopnyc ocHoBaHust MarHeTTo T5P (5-5) 1
6 |5MHS-05006 5MHS-05006 KatyLika 3axuranus reHepatopa  T5P (5-6) 1
7 |5MHS-05007 5MHS-05007 BuHT ¢ waitbon T5P (5-7) 2
8 |5MHS-05008 5MHS-05008 Katyluka umnynbcHas  T5P (5-8) 1
a 9 |5MHS-05009 5MHS-05009 BunT ¢ waitbon T5P (5-9) 2
10|5MHS-05010 5MHS-05010 datumk xona T5P (5-10) 1
11|5MHS-05011 5MHS-05011 BuHT ¢ waitboit T5P (5-11) 2
o 12|5MHS-05012 5MHS-05012 YnnotHutens T5P (5-12) 1
13|3MHS-08007 3MHS-08007 Ckoba T5P (5-13) 1
14|5MHS-05014 5MHS-05014 BuHT ¢ waitboit T5P (5-14) 1
15|5MHS-05015 5MHS-05015 CanbHuk BepxHui koneH.sana 20*36*7 T5P (5-15) 1
16|5MHS-05016 5MHS-05016 KonbLio ynnoTHutensHoe T5P (5-16) 1
17|5MHS-05017 5MHS-05017 Bont T5P (5-17) 2
18|5MHS-05018 5MHS-05018 LWaiba npyxuHHas T5P (5-18) 2
19|5MHS-05019 5MHS-05019 Jemndbep coenuHerus T5P (5-19) 2
20{5MHS-05020 5MHS-05020 LWnoxka konexsana T5P (5-20) 1
21[5MHS-05021 5MHS-05021 laitka kpennexust Maxosuka  T5P (5-21) 1
22|5MHS-05022 5MHS-05022 LLlai6a raiikv maxosuka TSP (5-22) 1
ELECTRICAL SYSTEM N PAINIER HaumeHoBaHue QTY
o, = 1 [5MHS-02023 5MHS-02023 Bont T5P (6-1) 2
0 2 |5MHS-06002 5MHS-06002 Konnayek BbICOKOBONbTHOMO nposoaa T5P (6-2) 1
3 |5MHS-06003 5MHS-06003 [lepxatenb KaTyLiku 3axurandus T5P (6-3) 1
= 4 [5MHS-06004 5MHS-06004 AmopTusatop aepxarens T5P (6-4) 2
5 |5SMHS-06005 5MHS-06005 KatyLuka 3axuranus ¢ B/nposogom T5P (6-5) 1
6 |15FMH-01008 15FMH-01008 Bont ¢ waitboit M6x16 T5P (6-6) 2
8 |5SMHS-06008 5MHS-06008 Ynnothutens T5P (6-8) 1
9 |15FMH-06018 15FMH-06018 Bont T5P (6-9) 1
10| 5MHS-06010 5MHS-06010 [epxatens kommytatopa TSP (6-10) 1
11|5MHS-06011 5MHS-06011 KommyTatop CDI T5P (6-11) 1
12(15FMH-14004 15FMH-14004 Bont T5P (6-12) 2
BOTTOM COWLING 1 N PAINIER HanmeHoBaHue QrY
1 |5MHS-07001 5MHS-07001 MogaoH geuratens B cbope T5P (7-1) 1
2 |5MHS-07002 5MHS-07002 Pyuka chukcaumm kanota T5P (7-2) 1
14 3 |5MHS-07003 5MHS-07003 Brynka cpukcauum kanota T5P (7-3) 2
4 |5MHS-07004 5MHS-07004 3aaswxka dukcauum kanota T5P (7-4) 1
5 |[15FMH-10011 15FMH-10011 Wai6a Bonnuctas  T5P (7-5) 1
6 |15FMH-12006 15FMH-12006 BuHt _ T5P (7-6) 1
7 |15FMH-10014 15FMH-10014 laiika 3awenkv konnaka M6 T5P (7-7) 1
8 |5MHS-07008 5MHS-07008 Brynka T5P (7-8) 2
9 |15FMH-14004 15FMH-14004 Bonr T5P (7-9) 1
10|5MHS-07010 5MHS-07010 lemndbep TonnueHoro 6aka T5P (7-10) 2
11]|5MHS-07011 5MHS-07011 Jdemndoep TonnmeHoro 6aka T5P (7-11) 2
12|5MHS-02028 5MHS-02028 Bont M6x25 T5P (7-12) 2
13|5MHS-07013 5MHS-07013 TonnueHbIi 6ak BHyTpeHHMA T5P (7-13) 1
14|5MHS-07014 5MHS-07014 Kpblwwka ropnosutbl 6aka T5P (7-14) 1
15|5MHS-07015 5MHS-07015 Jdemndoep baka T5P (7-15) 2
16|5MHS-07016 5MHS-07016 Mpoknagka kpblwku 6aka T5P (7-16) 1
18|15FMH-06016 15FMH-06016 3awenka T5P (7-18) 2
19|5MHS-07019 5MHS-07019 KpaH TonnmeHblit T4P (7-19) 1
20(5MHS-07020 5MHS-07020 Kopnyc TonnmeHoro kpaHa T5P (7-20) 1
22 5MHS-07022 5MHS-07022 MpuBog nepekmoyeHnst TonnuBHoro kpata T5P (7-22) 1
23[5MHS-07023 5MHS-07023 Pyuka TonnueHoro kpaHa T5P (7-23) 1
24 (5MHS-07024 5MHS-07024 LLlaiiba T5P (7-24) 2
38[5MHS-07038 5MHS-07038 TonnueHbIn dunbTp B cbope T5P (7-38) 1
39(5MHS-07039 5MHS-07039 Kpblwka TonameHoro dunstpa T5P (7-39) 1
40|5MHS-07040 5MHS-07040 Mpoknaaka TonnmeHoro dunbtpa T5P (7-40) 1
41|5MHS-07041 5MHS-07041 Jepxatenb TonnmeHoro dunbtpa T5P (7-41) 1
42|5MHS-07042 5MHS-07042 Bunt T5P (7-42) 2
43|5MHS-07043 5MHS-07043 TonnumeHbIn war L120 T5P (7-43) 1
44|5MHS-07044 5MHS-07044 TonnweHblit wnar L150 T5P (7-44) 1
45|15FMH-06016 15FMH-06016 3awenka T5P (7-45) 2
46|5MHS-07046 5MHS-07046 KHonka aBapuitHon octaHoBkM (B coope) T5P (7-46) 1
47]15FMH-11035 15FMH-11035 Tpoc aBapuitHoit octaHoBku TSP (7-47) 1
48|15FMH-11036 15FMH-11036 Konnayek kHOMK\ aBapuiiHoit ocTaHoBku  T5P (7-48) 1
1

15FMH-06001

15FMH-06001 KoHHekTop TonnmeHbIA T5P (7-51)




CONTROL N PAINIER HaumeHoBaHue QTY
1 [5SMHS-09001 5MHS-09001 Kopnyc pymnens T5P (9-1) 1
2 |5MHS-09002 5MHS-09002 Brynka peauHosas T5P (9-2) 1
3 |5MHS-09003 5MHS-09003 Brynka peauHosas T5P (9-3) 1
4 |5MHS-09004 5MHS-09004 Bryrka pymnensi T5P (9-4) 1
5 |5MHS-09005 5MHS-09005 LLlait6a kpennenus pymnens T5P (9-5) 1
6 [5SMHS-09006 5MHS-09006 Bont T5P (9-6) 2
8 [5MHS-09008 5MHS-09008 Bknagpiw T5P (9-8) 1
9 |5MHS-09009 5MHS-09009 bonT perynupoBoyHblil pymnens T5P (9-9) 1
10|5MHS-09010 5MHS-09010 MnactuHa perynuposku pymnenst T5P (9-10) 1
11|5MHS-09011 5MHS-09011 Bunt T5P (9-11) 2
12[5MHS-09012 5MHS-09012 LLinnuHT perynuposoyHoro bonta T5P (9-12) 1
13[5MHS-09013 5MHS-09013 LLlait6a perynupooyHoro 6onta T5P (9-13) 1
14|5MHS-09014 5MHS-09014 OcHoBaHwe pyyku rasa T5P (9-14) 1
15|5MHS-09015 5MHS-09015 Pyuyka rasa pesuHosas T5P (9-15) 1
16|5MHS-09016 5MHS-09016 Unawkatop rasa T5P (9-16) 1
17|15FMH-11019 15FMH-11019 MpymHa komnpeccuoHHas  T5P (9-17) 1
18|15FMH-11018 15FMH-11018 LLlai6a pymnens T5P (9-18) 1
19|15FMH-11017 15FMH-11017 BunT BTynkv pymnens M5x25 T5P (9-19) 1
20{15FMH-11015 15FMH-11015 3aknenka uHgukatopa pymnens T5P (9-20) 1
21|5MHS-09021 5MHS-09021 Ban ynpasneHus gpoccenem T5P (9-21) 1
22|15FMH-11023 15FMH-11023 ®ukcatop Bana 31,5x14,5x1,5 T5P (9-22) 1
23|5MHS-09011 5MHS-09011 BuHt T5P (9-23) 2
24|5MHS-09024 5MHS-09024 Tpoc rasa T5P (9-24) 1
25[5MHS-09025 5MHS-09025 Pyuka nepekrioyeqns nepegay T5P (9-25) 1
26|5MHS-09026 5MHS-09026 PeauH. konbLio pyyku nepekn.nepegay  T5P (9-26) 1
27|5MHS-09027 5MHS-09027 LUaiba Bontuctas T5P (9-27) 1
28|5MHS-09028 5MHS-09028 Laiba T5P (9-28) 1
29|PNFM40E-12019 |PNFM40E-12019 lMpyxuHa T5P (9-29) 1
30{15FMH-12033 15FMH-12033 l'aiika perynupoBoyHas natyHHas  T5P (9-30) 1
31]15FMH-09010 15FMH-09010 bont T5P (9-31) 1
33[5MHS-09033 5MHS-09033 Pbivar taru nepekntoyenns nepegad T5P (9-33) 1
34|5MHS-02028 5MHS-02028 Bont M6x25 T5P (9-34) 1
35[5MHS-09035 5MHS-09035 Tara nepeknioyeHns nepegadm T5P (9-35) 1
36|5MHS-03041 5MHS-03041 LUaiba T5P (9-36) 1
37]|15FMH-11012 15FMH-11012 LLlait6a cronopHas T5P (9-37) 1
38[5MHS-09038 5MHS-09038 MnacTiHa koHHekTopa Tar nn - T5P (9-38) 1
39(5MHS-09039 5MHS-09039 MNnacTHa koHHekTopa Tar nn - T5P (9-39) 1
40|15FMH-14004 15FMH-14004 BonT koHHekTopa Tsirm nepegayn T5P (9-40) 1
41|15FMH-11037 15FMH-11037 Hakneitka  T5P (9-41) 1
UPPER CASING & BRACKET N PAINIER HaumeHoBaHue Qry
1 |5MHS-10001 5MHS-10001 Kopnyc aeigsysa T5P (10-1) 1
2 [15FMH-02011 15FMH-02011 LLITndpt ycTaHoBouHbIA T5P (10-2) 2
3 [15FMH-02018 15FMH-02018 bonr c waiiboin M6x30 T5P (10-3) 7
5 [15FMH-01008 15FMH-01008 bonr c waiiboir M6x16 T5P (10-5) 4
7 |15FMH-12033 15FMH-12033 laiika perynupoBoyHas natyHHas  T5P (10-7) 4
8 [15FMH-14001 15FMH-14001 LLtyyep M6 T5P (10-8) 1
9 [5MHS-10009 5MHS-10009 3arnywka feinasyga T5P (10-9) 1
10/5MHS-10010 5MHS-10010 Brynka T5P (10-10) 1
11|5MHS-10011 5MHS-10011 Ckoba cTpybuyHbl nesas  T5P (10-11) 1
12|5MHS-10012 5MHS-10012 Ckoba cTpybuyHbl npasas T5P (10-12) 1
13|15FMH-13012 15FMH-13012 LLlainba-nnowagka 3axuma ctpybumtbl TSP (10-13) 2
14|3MHS-15013 3MHS-15013 BuHT 3axuma cTpybumHbl T5P (10-14) 2
15|15FMH-13009 15FMH-13009 Pyuka 3axuma ctpybumtbl T5P (10-15) 2
16|15FMH-13010 15FMH-13010 LLUTudT pyyku BuHTa CTpyOLmHbI 4X22 T5P (10-16) 2
17|5MHS-10017 5MHS-10017 Bont cTpybumHbl M8x135-b20-S12  T5P (10-17) 1
18|PNFM40E-13025 [PNFMA40E-13025 Laii6a T5P (10-18) 2
19|5MHS-10019 5MHS-10019 MNnacTuHa 3axuma kpoHwTeirHa  T5P (10-19) 1
20|15FMH-11008 15FMH-11008 laitka camokoHTpsias M8-S12  T5P (10-20) 1
21|5MHS-10021 5MHS-10021 Brynka pacnopHasi  T5P (10-21) 1
22|5MHS-10022 5MHS-10022 Bont T5P (10-22) 1
23|5MHS-02020 5MHS-02020 Llaiba T5P (10-23) 1
24|15FMH-10014 15FMH-10014 l"aitka M6 T5P (10-24) 1
25|5MHS-10025 5MHS-10025 KpoHiuTteitH nosopoTHblit T5P (10-25) 1
26 [5MHS-10026 5MHS-10026 Kpbiwwka kopnyca genasyga T5P (10-26) 1
27|15FMH-14001 15FMH-14001 Ltyyep M6 T5P (10-27) 1




UPPER CASING & BRACKET N PAINIER HaumeHoBaHue QTY
28(15FMH-08007 15FMH-08007 Bont noBopoTHOro kpoHiuTeiHa T5P (10-28) 4
29|5MHS-10029 5MHS-10029 Pbiyar dmkcauum Haknona  T5P (10-29) 1
30|5MHS-10030 5MHS-10030 Pykositka  T5P (10-30) 1
31|5MHS-10031 5MHS-10031 ®ukcatop  T5P (10-31) 1
32(5MHS-10032 5MHS-10032 Brynka kpoHiuTeliHa nogHstus motopa T5P (10-32) 2
33]|15FMH-14004 15FMH-14004 Bont T5P (10-33) 2
34 [5MHS-10034 5MHS-10034 IMpyxuHa KpoHLwTernHa noaHsTvs motopa T5P (10-34) 1
35[5MHS-10035 5MHS-10035 IMpyxuHa KpoHLwTenHa noaHsTus motopa T5P (10-35) 1
36 [5MHS-10036 5MHS-10036 LTudt perynuposku yrna Haknoda  T5P (10-36) 1
37[15FMH-13026 15FMH-13026 MnactuHa 3anvpatowas  T5P (10-37) 1
38]|15FMH-13028 15FMH-13028 LLtudpt  T5P (10-38) 1
39|5MHS-10039 5MHS-10039 Ckoba ukcaumum HaknoHa T5P (10-39) 1
40|5MHS-10040 5MHS-10040 MpyxwHa T5P (10-40) 1
41|5MHS-10041 5MHS-10041 MpyxwHa T5P (10-41) 1
42[5MHS-10042 5MHS-10042 BonT ckobbl ukcauum Haknona T5P (10-42) 2
43|5MHS-10043 5MHS-10043 Brynka geiiasyna T5P (10-43) 1
44|5MHS-10044 5MHS-10044 Brynka geitasyna T5P (10-44) 1
45|5MHS-10045 5MHS-10045 Brynka geiiasyna T5P (10-45) 1
46|5MHS-10046 5MHS-10046 Brynka geiiasyna T5P (10-46) 1
47|5MHS-10047 5MHS-10047 Xomyt T5P (10-47) 1
48 [5MHS-10048 5MHS-10048 LLlaitba BuHTa dukcauum gengsypa T5P (10-48) 1
49|5MHS-10049 5MHS-10049 MpyxwHa wrudTa perynuposku yrna TSP (10-49) 1
50|3MHS-15050 3MHS-15050 BuHT dhukcaumm geiasyaa T5P (10-50) 1
51[5MHS-10051 5MHS-10051 Pyuka BuHTa dukcaumv gengsyaa T5P (10-51) 1
523MHS-01026 3MHS-01026 WNHaunkaTop pyyku BuHTa ukcaumm gengeypa T5P (10-52) 1
53|3MHS-01027 3MHS-01027 WHaukaTop HaknoHa  T5P (10-53) 1
54115FMH-01004-2 | 15FMH-01004-2 LWtncdpt  T5P (10-54) 1

LOWER CASING & DRIVE N PAINIER HaumeHoBaHue QTY
1 |5MHS-11001 5MHS-11001 Peayktop B cbope T5P (11-1) 1
i B34 2 [5MHS-11002 5MHS-11002 Kopnyc peayktopa T5P (11-2) 1
f 3 [5MHS-11003 5MHS-11003 Brynka Beptuk. Bana T5P (11-3) 1
4 |5MHS-11004 5MHS-11004 Brynka Beptuk. Bana T5P (11-4) 1
-33 5 |5MHS-11005 5MHS-11005 CanbHuk BepTUk. Bana T5P (11-5) 2
6 |5MHS-11006 5MHS-11006 MoawwnHuk 3ag. wectepHu T5P (11-6) 1
7 [5MHS-11007 5MHS-11007 Axog T5P (11-7) 1
8 [15FMH-12028 15FMH-12028 bont M6x12 T5P (11-8) 1
9 [15FMH-17012 15FMH-17012 Lllait6a BuHTa aHoga M6 T5P (11-9) 1
10/15FMH-16009 15FMH-16009 lMpoknagka Macnosanustoro 6onta 8x13x2 (16-1 T5P (11-10) 3
& 11]15FMH-16008 15FMH-16008 bonT macnosanusHoro otepcTis M8x8,4 T5P (11-11) 3
12|15FMH-11027 15FMH-11027 bonr c waiibon  T5P (11-12) 2
13|5MHS-11013 5MHS-11013 Brynka T5P (11-13) 2
14|5MHS-11014 5MHS-11014 Mpoknagka T5P (11-14) 1
15/5MHS-11015 5MHS-11015 Mpoctaska kopnyca nomnsl T5P (11-15) 1
16|15FMH-10015 15FMH-10015 bont T5P (11-16) 1
18|5MHS-11018 5MHS-11018 CrakaH pepyktopa T5P (11-18) 1
19/5MHS-11019 5MHS-11019 MogwmnHuk nepea. WwectepHu 6004/P6 T5P (11-19) 1
20|5MHS-11020 5MHS-11020 CanbHuk Bana BuHTa 13*22*7 T5P (11-20) 2
21[5MHS-11021 5MHS-11021 KonbLio ynnoTHUTENbHOE CTakaHa peayktopa T5P (11-21) 1
22|5MHS-02023 5MHS-02023 Bonr T5P (11-22) 2
23|5MHS-11023 5MHS-11023 Kopnyc nomnbl T5P (11-23) 1
24|5MHS-11024 5MHS-11024 Mpoknagka nomnsl  T5P (11-24) 1
25|5MHS-11025 5MHS-11025 CrakaH nomnbl T5P (11-25) 1
26|5MHS-11026 5MHS-11026 3epkano nomnsl T5P (11-26) 1
27(3MHS-16028 3MHS-16028 CanbHuk Tpybku oxnaxaenus  T5P (11-27) 1
28|5MHS-11028 5MHS-11028 KpbinbyaTka nomnbl - T5P (11-28) 1
29|5MHS-11029 5MHS-11029 LLtudht TopcioHHoro Bana T5P (11-29) 1
30/5MHS-11030 5MHS-11030 Bont T5P (11-30) 4
31|5MHS-11031 5MHS-11031 LUnoHka nomnbl T5P (11-31) 2
32|5MHS-11032 5MHS-11032 MnactHa  T5P (11-32) 2
33|5MHS-11033 5MHS-11033 Tpybka oxnaxgeHus T5P (11-33) 1
34 [5MHS-11034 5MHS-11034 YnnotHuTens BogsHom Tpydku TSP (11-34) 1
35|5MHS-11035 5MHS-11035 TopcuoHHblid Ban T5P (11-35) 1
36/5MHS-11036 5MHS-11036 CtonopHast waiba BepTuk. Bana T5P (11-36) 1
37|5MHS-11037 5MHS-11037 LUectepHs Begywas T5P (11-37) 1
38[5MHS-11038 5MHS-11038 KonbLio cTonopHoe BeayLuei wectepn T5P (11-38) 1




LOWER CASING & DRIVE N PAINIER HanmeHoBaHue

39(5MHS-11039 5MHS-11039 LLlaitba Bepyweit wectepHu T5P (11-39)
i B34 40|5MHS-11040 5MHS-11040 LLlectepHst nepegHen nep. T5P (11-40)
41[5MHS-11041 5MHS-11041 LllectepHs 3agHeit nep. T5P (11-41)
33 42[5MHS-11042 5MHS-11042 Lllait6a wectepéHki 3agHero xona T5P (11-42)

43|5MHS-11043 5MHS-11043 Knaty_T5P (11-43)

46|5MHS-11046 5MHS-11046 MpyxuHa komnpeccuorHas T5P (11-46)

47|5MHS-11047 5MHS-11047 Nnyxxep T5P (11-47)

48|5MHS-11048 5MHS-11048 'pebHoit Ban T5P (11-48)

B 49|5MHS-11049 5MHS-11049 OnopHas wwaiiba BuHTa  T5P (11-49)

50|5MHS-11050 5MHS-11050 raitka BuHTa T5P (11-50)

51[5MHS-11051 5MHS-11051 LUnnuuT raiikv BuHTa T5P (11-51)

52(PNFM40E-12011 |PNFM40E-12011 Lait6a rpebHoro BuHTa 8.3X26X1.5 T5P (11-52)

53 [5MHS-11053 5MHS-11053 LLItok nepekntoyeHus nepegay T5P (11-53)

54 [5MHS-11054 5MHS-11054 MbinbHuK T nepeknioyenmus nepegay T5P (11-54)

55|5MHS-11055 5MHS-11055 Buut 3x7-1/2"X7" T5P (11-55)

55|5MHS-11055 5MHS-11055 Buut 3x7-1/2"x8" T5P (11-55)

JEENY DN DN DN N DN DRI PRI I N DRI N N BN BN N

FUEL TANK PAINIER HanmeHoBaHue

5MHS-12000 5MHS-12000 TonnweHblit bak BHewwH1A TSP (12-1)

ey
5P

5MHS-12002 5MHS-12002 Kpbiwwka 6aka ¢ gat4mkom yposHsi Tonnmea T5P (12-2)

5MHS-12003 5MHS-12003 KonHekTop TonnueHbIn T5P (12-3)

15FMH-18024 15FMH-18024 Bunt TP (12-4)

15FMH-18025 15FMH-18025 YnnotHutenbHas wanba T5P (12-5)

15FMH-18026 15FMH-18026 MMpoknazka kouHekTopa  T5P (12-6)

~N|o|o|s|w|d| =2

15FMH-18028 15FMH-18028 LUnaHr TonnmeHbIA ¢ rpywwein  T5P (12-7)

alalaln]|af=a]—




